3o amg@mﬂmmﬁﬂﬁum
fra T A 82

(1) &

(2) T

@1’ anfesm

4 &

(5) v < e |
IR ) o o Tl 9T &8 7
(1) 1930

2) - 1950

( 1947

(4) 1951

(5) SRR o =R |

SFITURT 2011 ¥ SET, YRA F1 T & E -
(1)  73.0

78.0
(3) 88.0
4) 83.0
(5) S TE A=A |
gt Ft e 82
(1) 6371w
2f 8371 fFH.
(3) 9371 &
(4) 2371 %
(5) IR E IR

fofew wra 1 3foem’ g & Saw IR 2
(1) <=9 foe

(2 arFRfEE

(3) S TSes
(4" e wsia

(5) I < =R |

T T o T T R-SRe & w9 3 el
feran 2

Appa _
belOnm’ Putty and Idiyappam - food items,

(1) 1 Which State of India ?

(2) Njah

i
ot Attl‘-‘I‘npte-:i

Wh;

(1) Ichlgear did India attain freedom ?
30

@ 1950

3 1947

As )
is .per Census 201 1, the literacy rate in India

(1) 730

(2 789

B) 880

4 830

(5)  Not Attempted

What s the radius of the earth ?
(1) 6371 km

(2) 8371 km

(3) 9371 km

(4) 2371 km

(5)  Not Attempted

Who is the author of the book - ‘A History of
British India’ ?

(1) James Mill

(2) Warren Hastings

(3)  Lord Mountbatten

(4) Lord Curzon

(5) Not Attempted

Who served as free India’s first Governor-

2
(W Y. TSR (ienergf I.Qajagopalachari
(2) UTR TEEYIE Ty ( 2) Sardar Vallabhbhai Patel
(3) e s ES: Maulana Azad
(4) SER T T ) Jawahar Lal Nehru
(5) S TEl & W | 5) Mot Attempted
VNATH/ G1 T B & oo v | SPAGE FgR ROUGH WORK Page 2
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7. ‘CE'refersto:
(1) A (1)  Coast of Egypt
(2) A (2) Common Estimate
p}— W@ (3) Common Era
%@aﬁﬁﬂ (4) Casual Era
(4)
5 4 & e | (5) Not Attempted
a4 2014 I S 3 ' "ﬁ‘aim % 8.  Mission Indradhanush’; launched in the year
> i ) e TR Y o, 2014 is :
(1) 3 * i ide i i mmodities
Wﬂ a—;@qﬁm@mq (1) To provide information, co
' mm| and service to meet the diverse need of
@) fafed W%WWW oy adolescents.
Wﬁ@ﬂﬁﬁ%m (2) To cover children who have been
l i - .
Aoy FEE IR aek partially or not vaccinated during
(3) X i Rl T ey routine immunisation rounds.
gt FeH BT (3) To provide affordable and quality
W(l < = EIRNCIRHE Tl healthcare to the rural population.
| (4) To provide education to the deprived
(5) TR & e children.
5)  Not Attempted
T S (
@ S 9.  World Environment Day is celebrated on :
th
2 7% (1) 5% June
(3) 5 qa‘]é (2) 7th June
(3) 5t July
@ 7Y o iy
(5) I Al | (5) Not Attempted
10. et & W SR feord T 1 Fed ¥ -
tIEﬂ 10. The earth is surrounded by a layer of gases
(¥ S called :
(2) R (1) Ozone
(3) aRHEw (2)  Environment
(3) Atmosphere
@) oy .
(4)  Climate
(6) W7 < e | (5) Not Attempted
11 (MAA) s 51 foreqa & 1
11. What is the full form of ‘MAA’ pro ?
¥ : Q'@I‘i?{{ FTHRA gramme 7
h q‘[Eﬂ S0l e (e : (1)  Mother’s Absolute Affection
2 1 HYY e (e TeHIee ) (2)  Mother’s Absolute Attention
() =ws fpgr (WX g Teee) (3)  Mother And Adolescent
. el 4)  Menstrual hygi
(B ﬁ?’ﬁﬁ@[ﬂ.mﬁm o g = (T (4) gi;:]r;s rual hygiene Among Adolescent
o TSI 37 arererde ed) (5)  Not Attempted
ST 7
Ty R | — 71 SPACE FOR ROUGH WORK Page 3
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Lugda’ is a kind of which one of the following

12T Pt 4 4 e e , o o | 12 Lugda'is a i —
q TRHT ST @ 2 (1 at is worn in Chhattisgar
{lj m@ {2)] [S)aree
upatta
g;/ ST (8)  Ornament
) SHoT (4)  Footwear
4) @ (S)  Not Attempted
(5) W& & =R
13, - 8 13. V;lhere i::; Jamia Islamia University situated ?
(1) 3 (1)  Aligarh
’ (2)  Bhopal
(2f s
(g/ e (3)  Delhi
@) (4)  Lucknow
(5)  Not Attempted
(5) W & o =ed |
14. frefafas § § $H-91 Fdw g9t @R wa@® | 14 Which one of the following refers to the
ey o ¥ frar T s aiqila s=i @ T fll:;%;iinme i?ltr(;dliCEd in.dall ﬁ(?lzernmgg:
§3Tf !ﬂmggﬁﬁq“fanm%? COOked l?.-:gch? ools to provide cnudren wi
(1)  wfgen garE (I) Mahila Samakhya
(2) TR HISA (2) Mid-day meal
(3) ot =R, Wt yare (3)  Beti Bachao, Beti Padhao
(@ wd fien st (4)  Sarv Shiksha Abhiyan
(5) W TE o =Ed | (5)  Not Attempted
15. ‘91’ 9d YR % forg o9 A WA ? :
g ST & 15. Bihw’ festival is celebrated in which Indian
(1) e State ?
(2) G (1) Karnataka
3) JWYW (2) Punjab
(4‘)/ 379q (3) Uttar Pradesh
(5) SR Tl 1 9 | (4) Assam
(5) Not Attempted
16. 3fc foreit =t %1 gaeh Hm T 5T 9 2, @ g
T W Fm fipeet
e T foen S €, s e | 16, If a person’s kidney stops working. They
Siifed T & whal | 9% 9w e & - cannot survive unless their blood is filtered
(1) . 39 by artificial kidney. This process is called :
(2( Sty (I) Excretion
3) Y@ (2) Dialysis
(4) frewma (3) Transpiration
(5) I T TR (4) Elimination
. 1 (5) Not Attempted
VNATH/ G1
7% Pret 3 forw 22ire1 / SPACE FOR ROUGH WORK Page 4
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17 RGIEl

i

2) -;T‘i:

(3) \

" 78 & HaH

p S T & = |
. Wﬁ@.ﬂﬁ.ﬁiwﬁ?

m ™

2) feretmT

@ TS

W T

(5) Wqﬁﬁa@l

9, @mmﬁwﬁwﬂﬁﬁaaﬁqﬁm@g
§| ofm iR wfdfora & o= feeft g anty

(100 eI
(2) 25|
(3) 50 |
(4 75 "IHR
(5) R TR o < |
2, 1 wfwar o S ¥ S og A
AR ! SAEeIeRdl T8 el § |
(W fafem
@ =wH
(3) Hewd
(4) STSRESH
6) I < == |
21 @ aﬁg-@ﬁaﬁﬁm
g
(W TEwire sl Afrmsfed
@) -3 stk A

% e aik e
) ¥ T e PACE FOR ROUGH WORK
Mm
TH/ Gy Wﬁlﬁﬂiﬁw

17,

18.

19.

20.

21.

Which of the following is not a terrestrial
habitat ?

(1) Pond

(2) Desert

(3) Rainforest

(4) Grassland

(5) Not Attempted

The SI unit of mass is :

(1) gram

(2) kilogram
(3)  pound

(4) ounce

(5) Not Attempted

A boy is standing at a distance of 50 cm from
the plane mirror. What will be the distance
between the mirror and the image ?

(1) 100cm

(2) 25cm

(3) S0cm

(4) 75cm

(5) Not Attempted

No medium is required for transfer of heat by
the process of

(1) Radiation

(2) Conduction
(3) Convection
(4) Transpiration
(5) Not Attempted
and are water borne
diseases.
(1) Typhoid and Meningitis
(2) Beri-Beri and Dysentery
(3)  Scurvy and Cholera
(4) Polio and Rickets

(5) Not Attempted

Page 5




22. frefafad & gafed ¢

m )
(A) TR ) FHSRE
B) TER- () 3fERE
(C) Sl () ot

(D) fogdi @ ) g

@™ (A)-(m), (B)-(IV), (C)-(11), (D)-(1)
(2)  (A)-(m), (B)-(), (C)-(1), (D)-(1v)
@) (A)-1v), (B)-(m), (C)-(111), (D)-(1)
(4)  (A)-(1), (B)-(m), (C)-(v), (D)-(1)
(5) W& e umy

23. ﬁﬁ%w%dﬁaﬁm@ﬁ%
(1) foarfm a
(&r foarfm By
B) faarfs ¢
4 feafmp
) I e =y

24, ﬁw%lf@aﬁ@ﬁ?ﬁ%ﬁaﬁﬁﬁwﬁ%?
(1) 79 () = Sufisy
(2) T =} sufigfy
@ Wﬁa{aﬁ@aﬂtéﬂww

(4) W%HWWﬁmﬁﬁr{ﬁ'{’i@w
SR BTl e 3 |

(6) T T =y

25, W‘A’WWW%:
Wr it
(2)  foumy
@)  Fw
(4) ARy

(5) ST T & e
VNATH/ G1 mm%%ﬁeﬂmsm&




26. ﬂiafﬁ?amﬁ 3
q T ¥ 3y
_jQr ﬁmﬂ‘f‘?ﬁh §|
TAHS
@ i . |
: 2
g; jﬁ'{mq—ﬁ > Farthwormsb
o 1 T
el (2)) ;ungs eathe theongh thel |
1r
" :;?F@aﬁﬁ e ST 5 s
? : (4)
ﬁ ?:ﬁ.{? Skin
q i (5) NotAt
o tempt
o) SR iy | 27 A
(3 T « Xeastis
) ) used in th
P licd Suga e producti
: A (2) Oxy . ction of : |
(5) Tt ) 3 gen '
w8 S (4; S
28. aﬁ X ydrO(;h] ;
ami? ;*: %m TR ¥ 6 NotAcemi e
SLE D 28 =
& {1l Eﬂ’c‘ﬂh—_“——- v B
T 3fea aﬁaw forem el 2016
(1) @l iated a mi , the G
T e which a mission overnme
(2) 3sH ateked, S Sew(;aued _L“ndia has
(& T R (1) Ugwal B iepondl e under
(4] q.:m:q (2) Udaa_na ve been
P ul (3) Swachh
T-Iﬁ a—.ﬂ e (4) Namam_Bharat
29, WY I (5) No 1 Gange
S A Eetiempt
ma%a‘f@@ﬁ‘@-ﬁe , - ed
. %ﬂaﬂm Frww-mH T Co]_:ih electric
(A m'l % Trq Colu:n = I wa]' compo
) e n-II: T S i
B wa-1 Colu symbol ven in
B - g - ®) El me! givan in
St Feagfy & = ectric cell. Coliimn - 1T
(C) R @ (B) _ ' Yy
o :EW (1) Switch in ‘ON’ |~
T g m — & position . _@
0 g w - Blectric B
(A)-), (B ¢ Bateny ulb‘ (
it Cho - 1)
I (C)-(L ose X
SRS el o, i W L o, o ) -
o (é::;lv 47441 . -1 e (M-miymgm" (I, D
NATH T ¥ (1), (©)-(0)- 7, ©-0 ©) {A)-(lv’( -0, (C)-m'( -(IV)
/G1 e | @ Al-uv;' (B)-(1), ‘Clu(u){ (D)-(1V)
5) N . (B)-(I1), (C , (D)-(111)
-zq;aﬂéasﬁiﬂzm"'!SPACE e RQUGOt Attempted (C)-(11), (D)-(1)
H WORK -
Page 7



e

30.

31.

%ﬁm%wﬂm%mﬁm@eﬁaﬁ
(1) EISED

()  wiafshan &l

(3) A

(of  FEi

(5) TG oA e |

G A, B, C, D 71 E ST i 3 e FF T
e 3 w2 &, O e Tt R sl e H

30.

31,

N

The Property of metals by which they cq

: ny
aten into thin sheets is called : &

(1)

Conductivity
2 Reactivity
) Duectility
4) Malleability
) Not Attempted

:we children A, B, C, D and E are standing i,
Tow, facing North but not necessarily in the

Same order, ‘C’is to the right of ‘E’and to
F r CA? ? L7 % ) the
©, B HTE A AR A, F ARl AIND'® }Eift of A’ ‘A’ and D’ have one child between
D R kxR L LY €m. Who is in the middle of the row ?
1) E
(@ E
@ c 2 c
B) B B) B
4 A 4 A
(5) I TR < =R | () NotAttempted
32. 9 mag{ﬂa;qqc\gq.ﬁ et w9 § fearmyn | 32. A set of English letters is given below in a
?| demel ¥ g HaSH &1 997 ¢ s TR .IUIIlbllaed order. Select the combination of
a@ﬁmmﬁq{ . num tf.rs so that the letters arra d
A 13.: 31“35"15 IS & | accordingly will form a meaningfu] wordl.lge
1 2 3 4 5 g (13 g > T @8 g
(1)  3,51,4,2,6 oS °
2 2,1,5,3,6,4 VI 90,1550
By 2,5,1,3,6,4 @ 215,364
4 4,1,523,6 @ 251364
(6) I M 458350
_ (5) Not Attempted
33. aﬁ‘Q:’-‘R’%?%?m Y:"é%}ﬁ[tQi’ R,ﬁm
TR Haifug § 2 33. IfQis b;otth?};’c;f son of R’s son, then how is
() Q' related to
@ =y s
aor” () Uncle
o) Grandson
(4) SN mﬁ/ﬁ'ﬂ'ﬂ @ Cousin
(5) ST Ry 5 Mot Attempted
VNATH/ G1 = | __———HWORK
imtﬁi%t’wra I SPACE FOR ROUGH Page 8



. awmwﬂﬁﬂa'ﬁﬁﬁ?ﬁ:aﬁh

M .

mmmmﬂ‘ﬁ%ﬁrﬂwwwﬁ
3/t ¢/

FIT:

Ao R © |

g@gﬂ@ﬂﬂﬁ%l

ﬁm&:

L O TR G © |

I F9F0THeRE

(1) e s 1 fsheran B |

(&~ %9 frerd 11 freheran €1

) fremd 1 of 11 3 Frerera €
4 79 frepd 1 o & Fre €1
) 3T & = |

T

9 ey

S~
.. 79T P g A T
P e 2

0 g
o
¥ w3y
@) Wy
VNAT:isf]G Wﬁ%ﬂﬁﬁ%l
1 L

I
maﬁwmﬂﬁ@ﬁ'{%émﬁqm'ﬁn

34.

35.

36.

If 25th of August in a year is Thursday, then
how many Tuesdays will be there 1 that

month ?

(1) 3

(2 5

3 4

4 6

(5) Not Attempted

Two statements are given, followed by two
conclusions I and II. Assuming the
statements to be true even if they seem to be
at variance from the commonly known facts,
decide which of the conclusions logically
follow /follows from the given statements.

Statements :

All animals are dogs.

Some dogs are dangerous.
Conclusions :

L All animals are dangerous.
O. Some dogs are animals.

(1)

Only Conclusion I follows.

(2) Only Conclusion II follows.
(3) Both Conclusions I and II follow.
(4) Neither Conclusion I nor II follows.

(5) Not Attempted

Kilometer is related to Distance in the same
way as Newton is related to :

(1)  Acceleration
(2) Density

(3) Force

(4) Momentum
(5) Not Attempted

| SPACE FOR ROUGH WORK
fer®
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T OBy

37. € TE @ H TN Y2 1 FHAT ¢

37, ..
1
(1) 65 212,16 05 41, 2
2) 66 ) 65
(3) 69 @) 6
@~ 72 @ &
(5) S A S =R | @ 7
5) Not Attempted
38. foaww =1 93+ wifvw .
38, .
(1) <= Find the odd one out :
(2) TSR (1) Ginger
(3)‘ G () Carrot
4) == B Potato
. 4) To t
(5) S TE T =Ry | TR
(S)  Not Attempted
39. AR uF ffr=@ gewwt ¥ COVET | FrRYHW 3. I 1 exrtiiny v, SCOVEL
. A . certain code, ¢ ET’ is written as
e s €, S W § HIDE W feran FRYHW’ then how will HIDE” be written 1 the
S ? same language ?
@] KLEF (1) KLEF
(2) KLGH (2) KLGH
(3) KLEI (3) KLEI
(4) KGEF (4) KGEF
(5) SR TE < = | (5) Not Attempted
; T . o ¥ e T amTEd . A man is facing North direction. He turns
0. = . o A ol ¥ 5 % 135° in anticlock-wise direction, and then 90°
fen # 135° g e 8, 3w a1 <feomed feen in the clock-wise direction. Which direction
90° g Il & | 379 IWeh! He forw famn & 2 is he facing now ?
(1) W-‘ﬁ ( 1) North-East
th
2) W @ N
3) North-West
(3 SW-ufy=m (
(4) West
(4) qf¥=y 5 Not Attempted -
(5) SO E I = | ——GHWORK Page 10



4}

42-

l?ﬁaaﬁyzoﬁa-aqmls _

EL P
e 745 I@% T ¥ 41. On selling 17 balls for ¥ 720, there is a loss
750 equal to the cost price of 5 balls. The cost
(2) bl price of one ball is :
(3) (1) 245
@ T8 - () %50
5) ST < (3) 255
(4) %60
~[28—437— {15 < say 5) Not Attempted
: it
N —29 42. 1f45-[28—{37 — (15— x)}] =58, then the value
(1) 19 of xis:
2 - (1) -29
(3 13 @ -19
(4) 2 3) 19
(5) I AE < AR | 4) 29
(5) Not Attempted
A7 B A %A T 22,500 A3 35,000 frdm 3
=R gy feram » | 43. A and B started a business by investing
b 327,600 %"S"T"Wﬁ B#1 Z 22,500 and ¥ 35,000 respectively. Out of a
e total profit of ¥ 27,600, B’s share is :
(1) ¥10,800 (1) ¥10,800
(2) ¥14,400 (2) ¥ 14,400
(3) ¥16,800 (3) %16,800
4" ¥19,200 (4) T19,200
(5) IN T T | (5) Not Attempted
1 2 4+ 4
aﬁf_:l%,ﬁﬁ 2 +yj 1 7 A : 44, If isg,thenthevalueofﬁz.ls:
y 3 -y
—10
oy S
- 5
@ 7
o 2 !
@ =
(3) i N
4 -5
o 3
@ =
3 (5) Not Attempted
O)  IwEF e amEdl asfmﬂﬁ /SPACE FOR ROUGH WORK Page 11
o



45.

: ivides the
ich divi
The greatest numbere‘:r;nd the greatest

Breatest 3-digit nU™

4-digit number, exactly 18
(1) 3
1 3 @ 7
7
o 8 @) s
3
@) ; @ 9
“) 5
B T | (5) | Not Attempted
| ; their LCM
2 wemail %1 HCF 08 ¥ ¥l 37 LCM 336 21 | 46. The HCF of two numbers 18 28 tar?ei the other
* Qﬁ@H@TIIQ% aﬁqgﬂﬁ@l%‘ﬂﬁ: 2336' If one number is 112;
’ umber is :
o 34 (1) 34
(2) 64 (2) 64
(3) &4 (3) 84
4 92 (4) 92
(5) IH e & = | (5)  Not Attempted
a7, e o 5 St 4 5 YA ATFE| | 47, The radius of a cylinder is 5 cm more than its
afz e T 9F TS SEhd 792 1 FAdr 2, height. If the curved surface area of the
. : . cylinder is 792 cm?2, then the volume of
! e (5 e #) B o , cm?,
ylinder (in cm3) is :
(1) 5712 (1) 5712
(2) 5244 (2) 5244
@f 5544 (3) 5544
(4) 5306 (4) 5306
(5) SO TE o =R | (5) NotAttempted
48. TF7H 550 M HI gt 1 e A T FA T TfF | 48, A truck covers a distance of 550 metres in
T 99 33 fR.H F g 45 R A @ FA B TH 1 minute ‘dereas ’? bvf} ﬁovers a distance of
g . A 33 kms in 45 minutes. e ratio of the speed
9 & Tfa | S € : of the truck to the speed of the bus is : P
(1) 3:4 ;
m 3:4
2 4:3
{2) 4. 3
3) 3:5
4" 5:3 5.3
: 4 >
(5) IR 1 =R | 9 Not Attempted
VNATH /G SuGH WORK Page 12
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@ L agent T L5
(1) 20,30
2) 32,78
7~ 50,79
) 24, 36
9 3¢ e & e |
LI PR |
o 1+ T 12 ’ﬁquﬁ‘b’ﬂn;
m 1
@ 9
3) 13
w17
(5) I G o1 =T |
61, TR - 1 % =6 H A T 15 Ui forcinm & wufy
TR - 11 o =eret 1 ged 20 Wi freium & o
21 7R o =ael 1 2 : 3 H fremn mn @), @ fagm
mﬂﬁiﬁ—ﬁﬁﬂm&?{l%:
1 %18
R 19
(3 Z18.50
Br %19.50
(5) I TRl 3 = |
2. T A, B Y 20% 9 T A “Z;
W*ﬂéﬁvvmﬁﬁwmm%mﬂ
1 fohe oy 8 g e T ?
(1) 5w
BT sy
B 6w
@) 6y

6 s B
V TRl o1 | SPACE FOR ROUGH WORK
NATH /g 5 o0

1 p—

49,

50.

51.

52.

Two numbers are in the ratio 2 : 3. If their
sum is 125, then the numbers are :

(1) 20,30
(2) 32,78
(3) 50,75
(4) 24,36

(5) Not Attempted

If /1 + 25 _ 1+ X, then the value of xis :
144 12

(1) 1
2 5
3) 13
4 17

(5) Not Attempted

The cost of type - I rice is ¥ 15 per kg and of
type - II rice is ¥ 20 per kg. If rice of both
types are mixed in the ratio 2 : 3, then the
cost price per kg of the mixed variety of rice
is :

(1) %18
2) %19
(3) 1850
(4) T19.50

(5) Not Attempted

A does 20% less work than B in the same
time. If A can complete a piece of work in
7V hours, then B can do it in :

(I)  Shours
(2) 5% hours
(3) 6 hours

(4) 6% hours
(50 Not Attempted

Page 13




forapof 1 TS AT EAH oy,

Frad &
afe el o sz &, o ST H T gy

g:

(1)

8
3) 24 .

S
53. 3.

12 =
17 .

4) 314
(5) ST TE < =ed |

54. RO A ) R e E Y i 10 T H gy | O

A B ST 2
10
(1) 826
10
(2) 8-543
1
8—%
@) 8%
o 9=
( 5"

(5) ST Rl < =R |

55. 37TV Ush Hel § Thed &l Uk wel Wiied 8, siefsq | 55-
20% wg e wi e | afes@a 2 1,600 feud = o
|/ ®E-H Ul 39 Theq F U SIS H sifrd ged
®7?

(/1y~ ¥ 1,280
) 1,600
3) ¥1,920
4) T2,000

I th
ree € length of the diagonal and the areg

thenangle are 25 m and 168 m?2 respectjy,
¢ longer side of the rectangle jg . °l

(1) 12 m

@ 4, &

@) o4

@) 3 m

S

(5) Not Attempted

At

i What rate of simple interest will a sum ,

oney doubles itself in 12 years ?

1

(1) 829
4
) 8ly
3
1
3 8—
(3) 2%
1
4) 99—
(4) 2%

(S)  Not Attempted

Arun buys a pair of skates at a sale wher
the discount given is 20%. If the amount h
pays is T 1,600, then which of the following i
the marked price of the pair of skates ?

(1) 1,280
2) Z 1,600
@ 1,920
@ 2,000
(g) NotAttempted

(5) S TE N HEY | WK Page 1/

el
VNATH/ G1 =% @14 o fere zarer/ SPACEF



%6. ChooS
Vi pumorus
2 humorOUS
(3) humoros
(4) umarous 60
(5) Not Attempted - Pick out th
§7. Choose the alternative v s : T sentence which has
the given sentence in P hic is is the third ¢ rror, your answer is (4an
The accountant ass;j s ommunicati )-
took ' 1ve t ex (A) ation [ have
customer: he o, Oic Preg and I am sent /
1 Th ) he B, Seg much surpri
(1) e cheque is tak Que ¢, rprised /
by the accountan N from om the at receivin ®
g The cheque wt- the ¢, g no answer
[3]’ customer by the as take Stomer 1) (A (C)
The custom accoyme » T or )
the €r was t Untant Tfom (B)
s accountant a_ken ¢ M the [3) (C]
(4) The cheque ha'd he che 4 Noe
5 N y the t ot Atte
ot Atte acc €n 6 , mpted
mpted ountan; oM L. Fill i
58 : ant. the in the b ,
. Inthe follo Y lank
wing questi ou will n with suitabl
part of the senten ion, the fi (1) sle ot overtake him unl ¢;alternative.
The rest of the scn’cC i numI};r,St and the | (2) waJelf mless you
e . € i
and named P, Q, R agge is split ii]rfd S, & ZSt (3) play quickly
s mbéed' Re-arrange t}? These fourpa parts f?f feacing
1° ven t . em i r
P- negl oday in man in corre parts are Not Attempted
glecte yc rrect o 62.
Q d and there sre fr tder. Choose th
-women contin ere are far the m e alternativ .
R - who ue tob eaning of e which be
& have had th e They sold the underli est expresses
S - fewer women th e benefit of g their old hous ned idiom.
6" education and an men X ite elephant . e because it was
() PQRS vocation training EQ‘}, very large
@ QPSR ) useless
8 RQPS Ml e
4 SQRP L e
. (5] Not Attempt . ot Attempted
9. Change the f 1pl ed Lljlfi out the antonym
spe ollowi _ rare of fre )
SI}}l;l:t? h ng sentence int indirect EQ) return i
said to hi 3) f
as o his 1 « ear
nake behin friend, Look out! There is (4) ala
] aktl tOld hl f : Not Attem
there i s friend tO look out as 64. Fi pted
@ sh s a snake behind I - Find out th
akti exCl . & lm. . ln the f € Synﬂn}rm Of
surprise aimed to hiS friend with ollowing sente the underlin
8 behind h-that there could be 2 snake To travel hopefully i nee. . ward
Seeing a“;l- . ‘ . arrive, and—g—z is a better thin
(4) asked his f I:Iake behind harm Shaktl (1)  rational true success i g than to
Shakt; s friend to Jook out (2) positi ly is to labour
5 N Sk’ zm‘?d his friend % there W25 (3) negliwe]y .
H/G1 pted (8), Mot Atten};pted
AP /SPACE FOR ROUGH
WORK
Page 15
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HWORK
3% BTt 3 ferw warrer ) SPACE FOR ROUC

al tive to improve th, 9T ¥
= Srl’}lgg:l?nz:iepgg ;E:he :_‘?]-lr;a\iving sentenc?_ If n:. 70. ﬁl{mﬁmﬁmﬁ a@ﬁgﬁ F
improvement is required, your answer is (4), (1) s Wwﬁﬂ
Passengers are requested not to sit on the floor. (2) T w7 et L4 :@gg:
t sit B) oy e & WA ¥
(’L} to no ‘ (Qr . Eﬁq.iﬁw
(2) to not to sit . mﬁwmgal
(3) requested to sit (S) I TR e AR
(4) No Improvement T1. ﬁmmmﬁqmqawm @,
(5) Not Attempted (1)/ Frur
66. FI-H AT Feitl Heh T ISR & ? g: e
(1) o 39 e o4 =i ¥ A
: ) STegEivE
() S AR T G (5) 3 7 2 A |
v il
(3) fedi stk w=HI ! g e s G TR
@ WY Td WA R M I
(5) SR = | P
67. ‘'v@ am ¥ 3@ WA T’ A= F Yt v :2: &
e 39 - () IR T 2 = |
(1 Eﬁf“' ol 73. ' iR He ¥ ot F e’ F fow gaituw srgm
@) il TH I | -
(4) ewEf (2) iremm
(5) S TE T AR | (3) Tt
@) Trm
68. 3T’ WIF F AN A & AT VT T L - (5) I TE ¥ =R |
(1) Ti® 74. TS F W R T oo it s
(2 @ s
(3) 3fe (1) femem
= o o
(5) W & T = | 4l o
69. ‘Wﬁﬁaﬁé@ﬁgﬂﬁaﬁ'wmaﬁ (5) IR T T == |
qﬁﬁm?: wg, wEd T H Ty W'H‘b’ﬂ’twm‘iﬁﬁ; 7
(1) 3991 AFHR F] _ 3
(2)  STIHTE TR 5y (1) ﬁw;?gﬁm|
(3) T AiFER & (2) SE¥d W
“r SR g e S e sy
5) T :5: o T 3 R
_//”—\—/4
VNATH/G1 o
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76- ETImgl
(2) & 2
(3) 24
(4) 2 qﬁ-&m’aﬁal
(5) s

&nm%‘(@@?ﬁ) % Tay 3

77. ﬂiwﬂﬁ%7 P
o T T S w4,
g T R TS g g,
e 8 T/ BT E
(1) Fad (A)

2) Fad (B)

a) (A) 3 (B) T

w AT (A) IRTE (B)
(5) I TE o1 =R |

s, o % f5g TR H s SIS Tl H A

famn & B § 2

(1) W

(2) fewar

() SR

(4) W

(6) W T ==

7S, TR ey 8 2o 3 ferg R WA I O

TR?

) e
¥ Ty
(3) e
@) e

§)

NATH &y

76.

77.

78.

79.

How many districts are there in Haryana ?

(1) 21

2y 22
3) 23
4 24

(5) Not Attempted

Consider the following statements in respect
of National Security Guards (NSG) :

(A) Operational Headquarter of NSG is in
Manesar.

(B) NSG comes under the control of Union
Ministry of Home Affairs.

Which of the above statements is/are
correct ?

(1) (A)only
(2) (B)only

(3) Both (A) and (B)
(4) Neither (A) nor (B)
(5) Not Attempted

In which month of the year, the famous
Surajkund mela is held every year in
Haryana ?

(1) March
(2) December
(3) October

(4) February
(5) Not Attempted

In the Mahabharata period, which term was
used for Haryana ?

(1) Haribanak

(2) Bahudhanyakya
(3) Hariyala

(4) Haryanak

(5) Not Attempted

I e
v bl ' | SPACE FOR ROUGH WORK Page 17
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80, To Promote the ancient Heritage of Pll}

Hoyg
i S S s S
3, g0 e - E? one ?
(1) e e (1) Orange festival
(2) WW (2) Dates festival
(8) 3 HRIwA 3) Mango festival
(4) fie R @) Lemon festival
(5) " W TE o 9 | (S)

Not Attempted

81. frfafea d @ # e T &1 waieaww, o7 3ik | 81.

Who among the following is the Ministe, 4

D) g?a:g%nment, Forests and Wildlife of Hal’)’anef
(1) A St forw (1) Shree Anil Vij

@) o F (2)  Shree Kanwar Pal

(@) o e =g v (3)  Shree Mool Chand Sharma

(4) o g B (4)  Shree Dushyant Chautala

(5) I T & =

(5)  Not Attempted

82. @ ol wftrefiet S <o g fepert Afvr w3 82. Mukhya Mantri Pragatisheel Samman Yojana
- 8 o o e B e e A

is to motivate the pro

1 : gressive lfarmers for
o g o rolfg s
a
a4 2 3
@ s 3) 4
(5) ST & = L

(5) Not Attempteq

83. ﬁﬁi%rfaaﬁ%m*ﬂmqmﬁwmmqg%?

(1) = 38 83. E;tg:g;ngzgst the following is the State Tree
@ s (1) Banyan Tree
SR (2) Sacred Fig
(4) W H gy (3) Mango Tree
() ST TRy, (4) Sal Tree |
(5) Not Attempted i
VNATH/G1 WWW@
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p

freAfafed el W e HIfT -
sz e § e ST 84. Consider the following statements :
) ; Rerr &1 (A) Rohtak has a Police Commissionerate
B) e ® gfers SgeTer feeg §) located there.
Eepea # | FH-91/9 FUT GE %/-g ? (B) Sonipat has a Police Commissionerate
¥a (A located there.
i A Which of the above statements is/are
(2) & (B) correct ? :
(@) (a3 ()T (1)  (A)only
4) TW(A) ARAE (B) (2) (B)only
(5) W™ T2 1 = | (3) Both (A) and (B)
(4)  Neither (A) nor (B)
5 N d
gs. fom o 2022-23 & fog, &famm W § 5 (5) Not Attempte
Ve e e reifed fohen & 2 85. For the financial year 2022-23, what is the
(1) 2% percentage of the total expenditure allocated
(2) 6.2% towards Health in the Haryana State ?
(3) 8.5% (1) 14.2%
(4) 5.8% () 6.2%
(5) ST TS <A AR | (3) 8.5%
4 5.8%
86. [AfafEa wuHi W foar #ifvT - (5) Not Attempted
(A) ErfYa iR geR @t i feeeh & Wy
%| 86. Consider the fO]_]OWiIlg statements :
(B) ﬂ% g =1 O feoet § 781 ol 8 (A) gC:l'l}ili)‘at and Jhajjar share border with
g & R -/ F @/ (B) Rohtak does not share border with Delhi.
(1) hAE (A) Which of the above statements is/are
(2) F9 (B) correct ?
(3) (A (@) 2 (;1 (A) only
(4) AT (A) IRAT (B) (@  (Blonly
e —— (3) Both (A) and (B)
] ST ' (4)  Neither (A) nor (B)
o e o1 35 i 2 (5) Not Attempted
(1) 87. Neemrana comes under which State ?
(2) g (1) Rajasthan
(3) T (2) Haryana
(4) SWEES (3)  Punjab
(5) U AE & = | (4)  Uttarakhand
™ (5)  Not Attempted
NATH/G1
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88. feamm T H T W F et WS & 2 Ss,
(1) 8
2 7
3) 6
(4 5
(5) ST El <A1 =R |

89.  Freietfam e w o FA 8o
(A) =1 |ifes TR TETe B ¥ )
(B) mmﬁamw:{a%ﬁﬁm%l
STEHR A Y F-0/ 9 o W /¥
(1)  aa (A)
(2) =l (B)
(3)  (A) 3R (B) 3F
(4) T (a) sRT & (B)
(5) W <1 = |

90. mmﬁwmtwﬁwﬁamm%?
(1) dugen 90.
(2)  TEH
3) wigEr
4) FEE
(5) W 7 3 ==y |

91 ﬁwmuﬁaﬁrwﬂﬂwﬁaqﬁ?ﬁamgﬁﬂm%ﬁm
ISER: &) o1.
(1) &)
(2) fam
B femr
4 fig
(5) ST & wry

92. Wﬁmﬁruﬁ%ﬂ@a%mm%? 92.
(1) =&
(2) wag
(3) Pt
(4) dRersh
(5) ST Yy

VNATH/G1

GH WORK
Y6 BT 3 10 zarrer ) SpAGE FOR ROV

i B0 LN

ow . ts does H
have 5 " Rajya Sabha sea Yang
(1) g

2 -

®) ¢

(4)

5} Not Attempted

Consider the following statements -
(A)

ada Sahib Gurudwara is Situateq in
balg,

Nada. Sakih Chrudwera is situateq on
the bank of river Ghaggar.

hich of the above statements is/are
Correct 7

(1) (A) only

(2) (B) only

) Botn (A) and (B)

() Neither (A) nor (B)
(5)  Not Attempted

(B)

In which district is the Indian Nationg)
Defence University located ?

(1) Panchkula

(2) Gurugram

(3) Faridabad

(4)  Karnal

(5) Not Attempted

Indira Gandhi Super Thermal Power Project

is situated in which district of Haryana ?
(1)  Jhajjar

(2) Sirsa

(3) Hisar

(4) Jind

(5) Not Attempted

Garima Chaudhary is wey; known for which

sport ?

(1] oS

) Kabaddi

(3) Wrestling

(4) Archery

5 Not Attempted
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93 L
& G A ?
(1) afi<x fae
2) Fqa g
(3) Tfe=z Mad

(4) HERR AR
(5) IR TR <A1 = |

preferfaa B & FFe S 1 iR Y ok 2

93. Who amongst the following did not play for

Haryana in Ranji Trophy ?
(1) Maninder Singh

(2) Kapil Dev

(3) Rajinder Goel

(4) Sarkar Talwar

(5) Not Attempted

In which district is Narnaul situated ?

94. e fora foe 8 fem €2 94.
(1) f= (1) Jind
(2) o (2) Kaithal
(3) WEmT® (3) Mahendragarh
(4) Jedw (4) Rohtak
(5) SR G <A =R | (5) Not Attempted
o5. Trmfafad & sfamn # S-d I $eft Fardt | 95.  Which of the following dance forms of Haryana
ST W g % ? is associated with Mewati tribe ?
(1) 99 (1) Dhamal
@ (2) Ratvai
@) (3) Phag
@ T (4) Gugga
(5) IW & & = | (5) Not Attempted
06. TR ‘TEIYRA’ ¥ T A € ? 06. Who was the author of epic ‘Mahabharata’ ?
(1y w™ (1) Magh
(2) e (2) Kalidas
(3) el At (3) Maharishi Valmiki
(4) et JeearE (4) Maharishi Vedvyasa
(5) ST R &1 9 | (5) Not Attempted
97. fag o
mﬂ; iﬁﬂim F JIE FHIH SURF | 97. E:ich one of the ft?llowing is not amongst the
jor cotton growing districts of Haryana ?
(1) fawn (1) Sirsa
(2) @ (2)  Sonipat
(3) ST (3) Ambala
@) @ (4) Rewari
(5) ST I A | (5)  Not Attempted
VNATH / G1
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08. e TE I (S Tw ) F o H el | og,

Cone:
FoA T faaR HIfST St;?%er the following statements about Grogg
A) FEMFHREHRERFA WA RY (4) OMestic Product (GSDP) :
fer %I (8}18}123 of Haryana is more than that of
' St wE €t ot gt & st ww €t (B '
o Tfuzm%w © i A T ) gsll_)yp of Punjab is more than that of
ana
; ) Wh: J
S ﬁaﬁq“m/ﬁwuﬁ%/%? eok;:::t of the above statements is/are
(1) ad (A) " [A?
(2) 9 (B) o [B)] only
(3) (A) 3R (B) 3 a) BOt;nly
(4) T (A) FRAD (B) @ (A) and (B)
: Neither (A) nor (B)
(5) W TR < AR | 5 N
ot Attempted
99. ‘3fig’ aiy gfemon § frg T w 9. Oy
arrage is on which ri in H )
(1) 37 0 va river in Haryana ?
Az muna
o : () Sahiba
(3) = 0 Tangs
4 ¥R ) Ghaggar
(5) SR M ER | 8 NotAttempted
g o » Boojali, an ornament i - .
?lg]:ﬂ ST & 2 :111]5' body by women inlﬁ{‘:;r:n];l ;V hich part of
&= Ears
(2)  wen (2) Forehead
B (3) Foot
4 "= (4) Nose
(5) IR & e | (5) Not Attempted
-000-
-00o0-
VNATH/G1 — | _—WorRk
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